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Day 3 Outline

Longitudinal Issues - Tracing Rules
Attrition

Cases available for panel analysis
Presentation by Richard Layte

More on Comparability of Data
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Sample Persons and Tracing

Sample person: someone who was a member of an
ECHP household in the first wave

Or a child born since the first wave to a mother who
is a sample person

Sample persons who move are traced

« all members of a sample household are
interviewed

« even non-sample persons - to get total household
income

* So new people can be added to the panel if they
move into a sample household or a sample person

Tracing and Newly-Generated Households

Wave 1
HID 23301 HID 233 HID 233
oe (37) Joe (37) John (18) moves in
Maria (37) Maria (38) Pierre (18) moves in
ohn (17) John (18) moves out
AL Ann (12)

Lucy (0) newborn

moves in with them R e
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. . Attrition
Who isfollowed in panel?
Sample person L oss of sample persons over timein a panel
Moving to private or collective household arr\rglinevitable loss (deeth, ilIness)
InEU Some loss due to fatigue (refusing in later
« In practice, not if move to another country waves)
Some loss due to difficulties in tracing people
Not traced if move outside EU, to who move
institution, or is non-sample person
§ g
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Attrition: Extent 1994-1998 (1)

Attrition; Extent 1994-1998

Nwaves N cases % retained
A I Belgium* 5 8,938 71
Focus on loss of individuals due to [ — = s || 53
Household Non-response Germany 3 12,270 89
Greece 5 15,765 69
* Some individuals lost because of non- Spain 5 2523'28; gg
response to personal interview france . e o
Italy 5 21,359 76
|gn0re people OUt Of SCOpe Luxembourg 3 2,793 89
o di H The Netherlands* 5 13,029 72
_dleq, moved outside EU, moved to Austria 3 5309 4
institution Portugal 5 14,156 82
. . . Finland 2 11,180 92
Notice that extent of attrition increases United-Kinadom 3 14143 61
H German-National * 5 15,848 79
as number of waves increases % ULl o g 5 15 secTs1 %
ESR Total 5 214,138 73 ESR
Patterns of Attrition (1) Patterns of Attrition (3)
In panel survey, we have much more Associated with
information on individuals lost through + Changing address
attrition than on initial non-respondents * Missing information in earlier wave
« Change of interviewer
Smaller effects:
* Younger, single adults
« In Northern countries: lower income, lower
education
« In Southern countries and Ireland: higher income,
higher education
- -
EsR EsR
Patterns of Attrition (4) Impact of Attrition (1)
This is the important question
Most attrition is random with respect to Obvious impact: Reduces number of cases
observables available for analysis
Less obvious: If non-random, can bias results
in later waves
Based on examining characteristics of « attrition on observables: e.g. sex, characteristics in
individual in previous Wave(s) earlier wave, change in circumstances between
waves (measured)
« attrition on non-observables: e.g. change in
circumstances between waves (unmeasured) F
= -
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Impact of Attrition (2)

In general, not as large as might expect

Model of wl-w5 attrition (Watson 2003)
including

Country and Wave

Individual characteristics (age, sex, marital
status, education, economic status, socio-
economic group)

Household Characteristics (household

size, type,tenure, stability of residence,

main income source, household income %

.

.

decile, poverty status) ESR

Impact of Attrition (3)

 The McKelvey-Zaviona pseudo-R? statistic
shows all of the variables included in the
final model account for only 11 per cent of
the variance in attrition.
« Of this total, almost half (4.9 per cent) is
due to differences in the level of attrition
between countries and across waves.
« Most attrition, then, is not associated with
the large number of substantive
independent variables in the model. %
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Impact of Attrition (4)

In general, not as large as might expect
even though attrition is patterned, impact
on sample structure is small

most attrition is random and effects decline
over life of panel

impact on sample estimates and

coefficients from multivariate models also
tend to be small

é
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Attrition and Poverty Rate (illustration)

a Poverty rate (in wave 1) for all wave 1 individuals and for

subset retained until wave 5 (unweighted)
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Watson (2003)
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Attrition and S80 / 20 ratio (illustration)

S80/20 ratio (in wave 1) for all wave 1 individuals and for
< subset retained until wave 5 (unweighted) -
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Cases available for panel analysis

N. Persons N. Personal

(all ages) Interviews
Wave 1-2 179,464 132,220
Wave 2-3 187,573 139,594
Waves 1to 7 99,516 70,966
Waves 1to 8 92,350 65,622
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Other Issues affecting comparability

Income in France and Finland
Survey and Register data
Pensions

Sweden: cross-sectional data only

EsR

Income: Gross and Net

In France and Finland, Income
components are given as Gross
amounts

« But total personal income and total
household income given as net amounts

* Net/Gross conversion factor used

Sweden lacks some detail on
components.

EsR

Gross components -- Total Net

In most countries:
« HI100=HI110+HI120+HI130+HI140
« HI100= SUM(PI100) + HI140

In France:
HI100=HI020*(HI110+HI120+HI130+HI140)

In Finland (Hi140 is already net)
HI100=HI020%(HI110+HI120+HI130)+HI140 %
ESR

Pensions

Difficulty in harmonising according to
original Eurostat categories
See Pan 166 on PI1321 for details

Not always possible to distinguish Old-
age related and survivor's pensions

ESRE

So thelesson is ...

Carefully check the Data Dictionary
for notes on the comparability and
availability of variables you are
interested in.

Doc PAN 166
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Lab Session: Matching across Waves

8 waves
Matching Individuals across waves

Matching Households across waves

é
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Identifierswithin Files

Matching Across Waves

- Household File All individuals ever in panel are in Link File
Country File
Country
Country HID Link File: shows situation of person in each wave
¢ Person info
PID —Fixed information: dob, gender, pid, sample person
Personal/Register File - - —Wave specific variables: resid status in Wi, pers
Link File elegible for interw in Wi, whether interviewed...
Country Country —Wave-specific information on person’s household:
HID HID in Wi, sample status in Wi, location in Wi,
PID household size in Wi, ...
PID HID1...HID8 —Movement in and out: new entrants, leavers,
' E - -
EsR EsR
Matching Across Waves. Exercise 1 :
Exercise 1 Syntax (1)
“Match across waves.SPS”
Identify individuals interviewed in all waves get file=linksav.
from 2 to 5,
* identify people interviewed all waves 2 to 5.
C e . . . conput e i n2_5=0.
Match to individual file to find economic if pfnres2 eq 11 and pfnres3 eq 11
status in each wave and pfnres4 eq 11 and pfnres5 eq 11 in2_5=1.
Examine change in activity status by fre var=in2_5.
country &y select if in2_5eq 1. &y
ESR ESR
Exercise 1 Syntax (2) Exercise 1 Syntax (3)
* match to personal file for each wave to find * Construct variable for change in activity status.
main activity status . conput e chact =-9.
m ssing val ues chact (-9).
* wave . variabl e | abel s chact 'Change in activity, W-5'.
P val ue |abels chact
conpute hid=hid . 1" Alvays wor ki ng'
sort cases by country hid pid. g 'glevetr_ wor Ki ngl;_
. . k] ot . ' Soneti nmes working'.
match files/file=*/in=inlink count nwork = mainact2 mainact3 mainact4 mainact5 (1,2, 4,5,12).
/ t abl e=w psav/in=i nw p cou(né ot h;r; fgi {1;\)012 mai nact 3 mai nact4 mai nact5
/renane (peO()l:rmi nact ) county n’va’l ’:’ nrayi nac.tz mai nact 3 mai nact4 mainact5 (1 thru 12).
/ keep=country hid pid birthyy to pfnres8 fre var=nwork nother nval .
mai nact /by=country hid pid. if nwork eq nval chact=L,
if nother eq nval chact=2.
fre var=inlink i nw p mai nact . if nwork ge 1 and nother ge 1 chact=3.
g fre var=chact . &
ESR ESR




Exercise 1 Results

Changein Activity Status, W2-W5

8 51 55 57 to 5,
Ireland Germany Luxembourg UK . )

100 Aaysworking % JrTa—— Match to household file to find level of

2.00 Never working a% 3% 4% 29% economic strain (HF002) in each wave

3.00 Sometimesworking 1% 24% 1% 24% Examine change level of economic strain

by country

’E ,J '5 .J
ESR ESK

Exercise 2: Changesin Household
Characteristics

Identify individuals (any age) presentin
households interviewed in all waves from 2

Exercise 2 Syntax (1)" Match across
waves.SPS’

get filedinksav.

* identify people interviewed in all
waves from2 to 5.

conput e i n2_5=0.
if hfnres2 eq 11 and hfnres3 eq 11 and
hfnres4 eq 11 and hfnres5 eq 11

in2_5=1.

fre var=in2_5.

select if in2.5eq 1. %

ESRE

Exercise 2 Syntax (2)

* match to household file for each wave to find level of
economic strain .

*wave .

compute hid=hid .

sort cases by country hid .

match files/file=*/in=inlink

/table=w hsav/in=inw h

/rename (hf002=strain)

/keep=country hid pid birthyy to pfnres8 strain
/by=country hid.

* check match.

fre var=inlink inw h strain. %

ESRE

Exercise 2 Syntax (3)

Construct variable for change in economic strain (see
chstrain in syntax file)

Tabulate this variable by country

EsKE

Exercise 2: Results

Changein Economic Strain (Difficulty making ends meet), W2-W5

8 Ireland 55 Luxembourg 57 UK

1.00 Alwaysdifficulty 7% 1% 2%
2.00 Never difficulty 57% 81% 79%
3.00 Sometimesdifficulty 36% 17% 20%

é
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Lab: More Within-Wave Matching
Matching Parents to Children
. Unit=Child

Matching Children to Parents
* Unit= Parent

Matching Individuals to Individuals
Matching Parents to Children

Exercise 3:
Matching parents to children
find mean age of children and parents, wave 1

Unit of Analysis = Child

Method:

= Begin with relationship file

= identify parent/child pairs

= aggregate to child level

= Match ages from register (X 3)

é
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Exercise 3 Syntax (1) Exercise 3 Syntax (2)
* Step 1: get relationship file; select parent-child pairs. . ] .
GET FILE=wlrelsav. step 3: sort and match on age of child.
select if relation eq 2. sort cases by country hid child.
if relation eq 2 child eq pid2.
if relation eq 2 Parent=pid1. match files ffile=*/in=inc
* step 2: aggregate to level of child - keep id of both parents. /table=w1regsav/in=inregl
AGGREGATE /rename (pid rd003=child agec)
/OUTFILE=* /BREAK=country hid child Ikeep=country hid child ageC parentl parent2
Incases=N Iby country hid child.
[Parentl = FIRST (parent) /Parent2 = LAST (parent). execute
if parentl eq parent2 parent2=$sysmis. fre var=i.nc inreg1
descriptives var=all. g ' g
ESR ESR
Exercise 3 Syntax (3) Exercise 3 Syntax (4)

* step 4: Sort and match age of first parent.
sort cases by country hid parentl.
match files /file=*/in=inc2
/table=w1regsav/in=inreg2
/rename (pid rd003=parentl agepl)
/keep=country hid child ageC parentl agepl parent2
/by country hid parent1.
execute.
fre var=inc2 inreg2.

EsKE

*step 5: Sort and match age of second parent.

sort cases by country hid parent2.

match files /file=*/in=inc3
ltable=wlregsav/in=inreg3
/rename (pid rd003=parent2 agep?2)
/keep=country hid child ageC parentl agepl parent2
agep2
/by country hid parent2.

execute.

fre var=inc3 inreg3.

variable labels agepl 'Age parent 1' agep2 'Age parent 2'
agec 'Age of child'.

é
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Exercise 3 Syntax (5)

* step 6: Table of ages of children and
parents.

TABLES
/ FORMAT BLANK M SSING(*.")

Exercise 3 Results

Average Ages of Parentsand Children by Country

51 Germany- 57 UK- National

/ CBSERVATI ON= agepl agep? agec 8 Ireland National source source
| GBASE=CASES Ageparent 1 48 43 42
| TABLE=agepl + agep2 + agec BY country Age parent 2 44 40 39
/ STATI STI CS —Ageof child 16 14 13
nean( '')
/title="Average Ages of Parents and
Children by Country'. F W
- -
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Matching Children to Parents Exercise 4 Syntax (1)
*step 1: Go to relationship file and select parent/child pairs.
get file=w7relsav.
E_XerCISe 4 ) select if any(relation,2,3).
Find parents and get number of children fre var=relation country.
aged under 5,aged under 15, aged under
18. Use wave 7
Unit of analysis = parent
- -
ESH ESH

Exercise 4 Syntax (2)

*step 2 match on age of parent - parent will be pid1.
sort cases by country hid pid1.

match files/file=*

Irename (pid1=pid)/in=inrel

table=w7regsav/in=inr

/rename (rd003 rd004 rd005
= rd003p1 rd004pl rd005p1)

/map

/by=country hid pid.

fre var=inrelinr.

rename variables (pid = pid1 ). /* put parent id back to pid%
-
ESR

Exercise 4 Syntax (2)

*step 3: match on age of child - child will be pid2.

sort cases by country hid pid2.

match files/file=*

/rename (pid2=pid)/in=inrel2

ltable=w7regsav/in=inr2

/rename (rd003 rd004 rd005 = rd003p2 rd004p2 rd005p2)

/map /by=country hid pid

/keep= country hid pid1 pid rd003p1 rd004p1 rd005p1l
rd003p2 rd004p2 rd005p2.

fre var=inrel2 inr2.

descriptives var=rd003p1 rd003p2. F
rename variables (pid = pid2 ). /* put child id back to pid2.
EsK




Exercise 4 Syntax (4)

* step 4: sort and aggregate to level of pid1l (the parent).
sort cases by country hid pid1.

aggregate outfile=*/presorted/break= country hid pid1
Incases=N

fagynkid 'Age f youngest child' = min(rd003p2)
fagolkid 'Age of oldest child' =max(rd003p2)

Jownage 'Own age' =first(rd003p1)
/punder18=pin(rd003p2,0,17)
/punder5=pin(rd003p2,0,4)
/punder15=pin(rd003p2,0,14). %

EsR

Exercise 4 Syntax (5)

* convert percentages in each age group (from aggregate) to
numbers .

do repeat x= nunderl18 nunder15 nunder5
ly=punder18 punder15 punder5.

compute x=ncases*y/100.

end repeat.

var labels nunder18 'N children under 18'
/nunderl5 'N children under 15'
/nunder5 ‘N children under 5.

fre var=nunder18 nunderl15 nunder5. %
-
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N children under 18 N chidren under 15
Camutae S
Freency | Parcent ] vaiid Porcort|_Percent reauency | percent _fvaid percent | “ercont
L T T 2 0 i o T T
100 | ar 317 013 100 wn | 0 01 pogid
200 su| s 55 a7 o0 bl I 5 e
30 1204 93 03 o1 300 o 1 1 o1
400
268 22 22 903 400 201 15 15 996
s00 o s s 998 -
6.00 27 2 2 1000 500 3 3 999
7.00 4 0 0 1000 600 8 1 1 1000
000 ; . . To00 ) el wl ol 1000
Total 13345 1000 1000 ota 3345 00.0 000
Missing  System 2 o Missing ~ System 2 0
T s | 000 Tota 17| 1000
N chidren under 5
Cumiaie
requency | percent | vaiid percent] percent
alid o 9855 738 738
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300 S 2 2 1000
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